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Solving Sequence

5,116*6612%7ﬁ168%10%46263ﬁ9>>02708
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A knot diagrarrﬂ c11 g cla ey clp cq4  c1 ez ocg

Ideals for irreducible component#ﬂ)f Xpar

It =W +u 4 4 2u—1)

* 1 irreducible components of dim¢ = 0, with total 56 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I* = (u® 4+ u® +...+2u—1)

(i) Arc colorings

wl® — 5u8 + 8ub —3u* —3u? +1
—ut0 4+ 408 — 5ub + 3u?
w® —2ud +u
uw —3u +2ud +u
—ul? 4 5410 — 9u® + 6ub — w2 +1
—uM 4+ 602 — 13019 + 1068 + 2ub — 4u? — w2
w? —120%" + -+ 6ud — 3u
wl —13u? + - — 240" 4 u
wt —15uB2 + - 43wl + 1
7U34 + 14u32 4 +8u4 7,“2
(u53 —22uP . — 14 + u)

az =
ag = \ w5 —23u” + .- 4+ 6ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®* + 92u°% + ... + 24y — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 u’® — 170" + - - - — 14056u + 1697
C2,C3,Cg U56+U55+"'—2U_1
C9
Cq,C7 w?® +u® + - —104u — 61
C5, Cg, C11 Wl — P —2u—1
€10, C12 w3+ du+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
a1 y°% —23y°° + ... — 40096324y + 2879809
€2,C3,C8 Y0+ 6550 + -+ 4y +1
Cy
C4,Cr y*% — 43y°° + ... — 18624y + 3721
C5,C6,C11 Y — ATy o Ay + 1
€10, C12 y56+29y55+--~+4y+1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = 1.007390 + 0.2991001 —11.32590 4 5.071757 | —10.41136 — 2.149281
uw= 1.007390 — 0.2991001 —11.32590 — 5.071751 | —10.41136 + 2.149281
u = —1.037430 + 0.2564061 —3.34884 — 2.955171 | —8.35409 + 4.146861
u = —1.037430 — 0.2564061 —3.34884 4+ 2.955171 | —8.35409 — 4.146861
u = 1.121000 4 0.2148061 —1.62413 — 0.333261 0

u = 1.121000 — 0.2148061 —1.62413 + 0.333261 0

U 0.755198 + 0.2768141 —11.72800 — 4.927721 | —11.51035 + 4.258491
u= 0.755198 — 0.2768141 —11.72800 + 4.927721 | —11.51035 — 4.258491
u = 0.174335 4 0.7800421 —8.76893 — 9.118941 | —7.30154 + 6.102271
u = 0.174335 — 0.7800421 —8.76893 4+ 9.118941 | —7.30154 — 6.102271
u = —0.163772 + 0.7682131 —0.71389 + 6.860371 | —5.12714 — 7.815671
u = —0.163772 — 0.7682131 —0.71389 — 6.860371 | —5.12714 + 7.815671
u = —0.056015 4 0.7746341 —2.40652 4 3.399941 | —2.99197 — 3.552071
u = —0.056015 — 0.7746341 —2.40652 — 3.399941 | —2.99197 + 3.552071
u = 0.150274 + 0.7470441 1.16768 — 3.318281 | —1.06642 4 3.309031
u = 0.150274 — 0.7470441 1.16768 + 3.318281 | —1.06642 — 3.309031
u = 0.019950 + 0.7543471 4.06747 — 1.634381 1.40261 + 4.577821
u = 0.019950 — 0.7543471 4.06747 + 1.634381 1.40261 — 4.577821
u = —0.728627 4 0.1955501 —3.63602 + 3.025601 | —10.17603 — 5.796561
u = —0.728627 — 0.1955501 —3.63602 — 3.02560 | —10.17603 + 5.796561
u = —1.205440 + 0.3178411 —5.92121 + 0.559721 0

u = —1.205440 — 0.3178411 —5.92121 — 0.559721 0

u = 0.210116 4 0.7077971 —9.83896 4 1.278671 | —8.53672 + 1.046531
U 0.210116 — 0.7077971 —9.83896 — 1.278671 | —8.53672 — 1.046531
u = —1.254520 + 0.1667961 —4.29080 + 2.465511 0

u = —1.254520 — 0.1667961 —4.29080 — 2.465511 0

u = —0.174059 4 0.7089311 —1.55154 4 0.378661 | —6.90408 + 0.229671
u = —0.174059 — 0.7089311 —1.55154 — 0.378661 | —6.90408 — 0.229671
u=1.247700 4+ 0.3082891 0.28331 — 2.204031 0

u= 1.247700 — 0.3082891 0.28331 + 2.204031 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.276230 + 0.3177171 0.03967 4 5.506401 0
u = —1.276230 — 0.3177171 0.03967 — 5.506401 0
u= 1.323630 4 0.1513271 —12.15060 — 3.2101171 0
u= 1323630 — 0.1513271 —12.15060 + 3.2101171 0
u= 0.662825 —1.52718 —5.96610
u= 1.297740 4 0.3327531 —6.63103 — 7.395871 0
uw= 1.297740 — 0.3327531 —6.63103 + 7.395871 0
u = —1.354420 + 0.3162731 —3.57922 4 7.176401 0
u = —1.354420 — 0.3162731 —3.57922 — 7.176401 0
u= 1359410 + 0.2996151 —6.38721 — 4.057911 0
u = 1.359410 — 0.2996151 —6.38721 4+ 4.057911 0
u=1.362120 + 0.3246997 —5.53028 — 10.817601 0
u= 1.362120 — 0.3246991 —5.53028 4 10.817601 0
u = —1.40068 —7.76419 0
u = —1.372010 + 0.2930761 —14.8334 4 2.36381 0
u = —1.372010 — 0.2930761 —14.8334 — 2.36381 0
u = —1.368570 + 0.3290707 —13.6427 4+ 13.13111 0
u = —1.368570 — 0.3290701 —13.6427 — 13.13111 0
u= 1411120 + 0.0165541 —10.10810 — 3.414721 0
U 1.411120 — 0.0165541 —10.10810 + 3.414721 0
u = —1.42291 + 0.023061 —18.4140 + 5.48471 0
u = —1.42291 — 0.023067 —18.4140 — 5.48471 0

—0.343458 4- 0.3810161

—7.13429 4 1.357521

—8.42167 — 4.667311

—0.343458 — 0.3810161

—7.13429 — 1.357521

—8.42167 + 4.667311

—0.195308 — 0.8000761

—5.29681 + 8.555481

U
U
u = 0.186399 4 0.2799721
u = 0.186399 — 0.2799721

—0.195308 + 0.800076.1

—5.29681 — 8.555481




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 u®® — 17u® + - - — 14056u + 1697
C2,C3,Cg u56—|—u55+---—2u—1
Co
4, C7 ubS w4 — 104u — 61
Cs5,C6, C11 u567u55+“~72’U*1
C10,C12 U56+3U55++4U+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 yP8 — 23y5° + ... — 40096324y + 2879809
€2,€3,C8 yP +659°° + -+ 4y +1
Co
Ca, 07 y* — 43y%° + .. — 18624y + 3721
C5,Cg,C11 y56747y55++4y+1
€10, C12 ¥’ + 29y + - 4y + 1




